
Initial Price/Share p0 17.00$                    

Average Daily Volume V 6,680,000,000.00 

Short Interest s 10.2

Maintenance Margin μ 0.3

Current Margin α 0.45

External Purchases as Fraction of ADV c 1 External Purchases in $

Market Impact β 2

Threshold Short Interest for Short Squeeze s* 0.615384615

Threshold Purchase for Short Squeeze C* 429,852,071.01$  

Short Squeeze Size δ 1917%

Resulting Price p* 346.4896366



6,680,000,000.00$ (Replace C5 with F5/C2 if using $ value directly)


